NT3049 1638304

2019(0dd)

Time : 3Hrs. Sem - III/EC
B. EC. Engg.

Full Marks : 70
Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & uft ufg gl & SR <, IS U BT 99 635 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TH U & O e BT SR U@ &) TR (AR & o)
BT AMRY, =41 4 Sifd T8 o ¥ahd © |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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10.

11.

(a) How does the conductivity changes with the
rise of temperature in case of semiconductor.
(b) Draw the symbol and explain the working

principle of varactor diode. 6

(?1) siefarei®d § ArUHA 987 A ATAGAT H
39 yRad+s gar g ?

(3) dRXBex SIS &I ddd Hid a7 39D
&l Rigr &1 auiq & |

OR (372rd)

Explain the characteristic of FET. Why N-channel
FETs are preferred over P-channel FET ?

FET & 31RIaIeror &1 9delly | N- d9e FET
Y P-d9el FET ¥ d8aX @ ?

(a) Write down the advantages of negative feedback
over positive feedback. 6
(b) Why zener diode is always used in reverse bias

condition ? Explain.

NT3049

(i)

(iif)

(iii)

(iv)
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R srars &1 g Sl gtk gers

@ & T » 9 H ghar 2:—
(@1 YBIfBDH I

@) dIeew e

(|) oz &t

(]) <I4r (31) 9o (@) @ fow

Maximum rectifying efficiency of a half
wave rectifier is ;-

(a) 0.406

(b) 0.812

(c)1.2

(d) 50

Udh efdwer faseamyl & Swaaq g&ar
BT HF © —

(31) 0.406

(9) 0.812

(|) 1.2

(2) s0

The alpha (o) of a transistor is
(a)1

(b) 0.99

(c) 20

(d) 0.01
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Answer all Five Questions.

GROUP -C

6x5=30

gl uig g3 & SN < |

7.

Define P-N junction. State and explain forward

bias and reverse bias of a diode.

oA, SidpIE Bl IRAINT &, SIS @&
HRds rag a1 Rad arag &1 for=d qen
SUP) AT DX |

OR (3121a1)

Differentiate between intrinsic semiconductors and

extrinsic semiconductor, Give examples.

gfgfa® qon yeafgafoe sqearasl o
IR 91 UG SQTERT < |

Explain the operation of full wave bridge rectifier
using P-n junction diode.

6
yuidwar e fascadrt & & &1 auia diea

SIeE STlS & SUIT 9 &Y |

NT3049

(vi)

(vii)

(vii)

(viii)

5 1638304

TH giRe # 1, &1 919 &4 gal @
................... P B W |

The number of depletion layer in C transistor
18 :-

(a) Four

(b) Three

(c) One

(d) Two

giftRer # feafiR@ R (o=a) a1
e 8 -

@) IR

(@) &=

&) o

@ <

In a p-n-p transistor, the current carriers are .
(a) Acceptor ions

(b) Donor ions

(c) Free electrons

(d) Holes

P.T.O
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OR (3121an)

Explain the operation of crystal diode as a rectifier.

forted SIS &1 SUAT faseamr) & v ¥
DY BIdT &, Ui &Y |

Write down the advantages of LED.

LED @& S9aifirar &1 qufq &V |

OR (3121an)

Draw and explain the photo diode charactristics.

BleTsials &l Afaeor 1 ©id g qui+
N |

Explain the type of feedbacks used in transistor

action.

4
SIORex THIE | B9 A1 Blsdd &I AT

ghar 27 forg
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ATERYTA: BiF 9 ¢iforery azelr &1
gART Bdl & ?

(31) @A gfex

(@) &9 49

() BT Beldex

(€) Suiad # @ HIg A

The most commonly used semiconductor in
the manufacture of a transistor is ......

(a) Germanium

(b) Silicon

(c) Carbon

(d) None of the above

ciforexy © foroor 9 |d grEmRvra:
........... BT G BT 2 |

(ar) oo

(@) tafer®a

(|) Preq

(€) Suiad # @ HIg A

In practice, the voltage gain of an amplifier
is expressed in ....

(a) Volts

(b) Number

(c)db

(d) None of the above
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Which symbol in the figure below shows the
symbol of LED

2 I
(A) {M (B) %4 © = ®) %4

(a) A
(b C
(B
(d) D

a0 fev v fm & o (LED) &1 Had
HITF AT 2 ?

7 I
A) Y7 (B) © 7 D

(@) A
@) B
(®|) C

() D
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(xiv)

(xv)

(xv)

(xvi)
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W4 R UTcHAD diecol Bledd BT T

fodfl TrelieRR & &dar 8, s9®T diecol

(31) dgar @

() ©rear @

(W) T oiar Ygar 2

(2) SWidd & 4 ®Is ]

Which Schotlky diodes are also known as
(a) PIN diodes

(b) Hot carrier diodes

(c) Step recovery diodes

(d) Tunnel diodes

IeH! srars Hl Har orar 2 |
(@) e sms

(@) gfc R sraTs

(@) €y Repad ss

(]) eae SIS

A crystal diode has forward resistance of the
order of

(a) KQ

(b) ©

(c) MQ

(d) None of the above
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